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AP EA) FEEOEAGFEB)E ARG E “aC)E 3 2 ¥
#5E P ¢ 7Kg ~pH-~DO~BODs~COD~SS~# A& ~ P A& ~ <~ 5 HE -
WHECRF A F CRINF CFREERR 25 P AT b
BrvZ: - SN s A TAHEB W B £ 4£HCu~Hg~Pb~2Zn-

_‘.‘;‘:;‘%Eﬁ——:’( o j‘?p/?]‘q\#’ii\}é‘ ~ 7 /é]}»}%)é.l
2 LRIRISE E L AR ORHR RS o RIS R4 6 % B 28~F 53 -

306 LA RORTE R £ L

R 5 e ff
7 B MDL | A. | A A B: B B off (of Cs ’;W
(¥ i) i
pH - 82 | 82 | 82 | 82 | 82 | 82 8.2 82 | 82 [75-85
k32 (°0) - 250 | 248 | 246 | 254 | 252 | 250 | 258 | 257 | 256 | —
%3 ¥ (mg/l) - 66 | 66 | 65 | 67 | 66 | 65 6.4 64 | 63 | >5.0
BirEMmg/L) | 10 | 12 | 12 | 14 | 14 | 14 | 17 12 12 [ 13 | —
@ /& (psu) - 334 | 334 | 335 | 337 | 337 | 338 | 333 | 333 | 334 | —
% P & (m) - 18 - - 16 - - 1.3

425 £(mg/L)] 1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 | <3.0
iPH¥Z3% $(mg/L)] 1.5 5.4 5.7 5.7 6.0 55 5.9 5.8 5.6 55 —

Sa(mg/L) 0.002 | 0.016 | 0.018 | 0.019 | 0.020 | 0.016 | 0.016 | 0.018 | 0.020 | 0.018 —

(
(mg/L) 0.10 0.65 0.31 0.36 0.29 0.26 0.28 0.37 0.45 0.50 —
(mg/L) 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. —

¥ (mg/L) | 0.09 0.63 | <0.50 | <0.50 | <0.50 | <0.50 | <0.50 | <0.50 | <0.50 | <0.50 —

Y2 @ (mg/L) | 0.06 | 0.051 | <0.22 | 0.068 | <0.22 | <0.22 | <0.22 | <0.22 | <0.22 | <0.22 | —

% 4 i @ (mg/L) | 0.005 | 0.03 | N.D. | 003 | ND | ND | ND | ND | ND | ND | —

% "5 (mg/L) 10 | <10 | <1.0 | <1.0 | <1.0 | <1.0 | <1.0 | <10 | <1.0 | <1.0 | 2

@ (mg/L)  [0.0009 | <0.01 | <0.01 | <0.01 | <0.01 | <0.01 | <0.01 | <0.01 | <0.01 | <0.01 | 0.01

~ 4 3 0
(CFU/100mL) <10 60 75 30 |[2.3E+02] 40 |2.9E+02|1.9E+02| <10 45

A4 (mg/L) 0.0003 |<0.0020|<0.0020|<0.0020|<0.0020|<0.0020|<0.0020| <0.0020 |<0.0020|<0.0020| 0.05

45 (mg/L) 0.0002| N.D N.D. N.D. N.D N.D N.D N.D N.D N.D | 0.005

£4(mg/L) 0.0050 |<0.0050<0.0050|<0.0050|<0.0050|<0.0050|<0.0050| <0.0050 | <0.0050|<0.0050| 0.05

& (mg/L) 0.00015] N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. | 0.001

4% (mg/L) 0.0004 | 0.0001 | 0.0001 | 0.0001 | 0.0001 | 0.0001 | 0.0001 | 0.0002 | 0.0002 | 0.0002 | 0.03

4 (mg/L) 0.0004 | 0.0002 | 0.0002 | 0.0002 | 0.0002 | 0.0002 | 0.0002 | 0.0002 | 0.0002 | 0.0002

£-(mg/L) 0.0004 | N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. | 0.01

£ (mg/L) 0.0016 | 0.0010 | 0.0007 | 0.0005 | 0.0005 | 0.0005 | 0.0005 | 0.0009 | 0.0010 | 0.0012 | 0.5

LR &
(mg/L) |0:00003 N.D. | N.D. | N.D. | ND. | ND. | ND. | ND. | ND. | ND. | 01

RN
(mg/L) 0.00003| N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. 0.1

(“mZ}S 0.00004| ND. | ND. | ND. | ND. | ND. | ND. | ND. | ND. | ND. | 01

a \T‘;}%‘\ui.

:m*;’i; 0.00005| N.D. | ND. | ND. | ND. | ND. | ND. | ND. | ND. | ND. | 0.1

- AN
]E?Tl;];i; 0.00025|<0.00025|<0.00025|<0.00025|<0.00025|<0.00025|<0.00025| <0.00025 |<0.00025|<0.00025| 0.1

Emg;z; 0.00004 N.D. | ND. | ND. | ND. | ND. | ND. | ND. | ND. | ND. | 01

oA pH110&230 18P o
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